

# Apartment in Burmarrad



**Burmarrad, North**



**€296,000**

Reference No: 240461026-28

 Total Rooms: **6**

 Floor Area (m<sup>2</sup>) : **116**

 Bathrooms: **2**

 Bedrooms: **3**

# Apartment - For Sale - Burmarrad

BURMARRAD - Apartment - A selection of 2 & 3-bedroom Apartments, Maisonette and Penthouses. Properties will be sold in shell form with all common parts finished. The layout consists of a large Open Plan - Kitchen/Dining/living area, 3 Double Bedrooms (main with En-Suite), a Main Bathroom, and a Laundry room. For more information, kindly contact your preferred RE/MAX agent.

## Features

- ✓ Back Yard

## Rooms

- ✓ Kitchen/Living/Dining : 4.69 x 6 m (28.14 m<sup>2</sup>)
- ✓ Double Bedroom : 3.32 x 2.78 m (9.23 m<sup>2</sup>)
- ✓ Double Bedroom : 3.44 x 3.03 m (10.42 m<sup>2</sup>)
- ✓ Double Bedroom : 4.53 x 3 m (13.59 m<sup>2</sup>)
- ✓ Hallway : 9 x 0.6 m (5.4 m<sup>2</sup>)
- ✓ Bathroom : 1.95 x 1.56 m (3.04 m<sup>2</sup>)
- ✓ Shower Ensuite : 2.22 x 1.5 m (3.33 m<sup>2</sup>)
- ✓ Open Space : 4.3 x 5 m (21.5 m<sup>2</sup>)

# Gallery







**Jackie Saliba**

RE/MAX Professionals - Mosta

M: 99451801

E: [jsaliba@remax.com.mt](mailto:jsaliba@remax.com.mt)

T: 27998977

**RE/MAX Professionals - Mosta**

24, Vjal L-Indipendenza, Mosta, Malta